Practice Questions

Add ¥9.50 and ¥4.75.
Subtract ¥3.80 from Z10.
Multiply ¥6.25 by 3.

Convert ¥15.25 into paise.

Convert 900 paise into rupees.

Write ¥100.50 in words.

Find the total of T60 + ¥25.75.
Subtract ¥14.60 from ¥40.
Multiply Z8 by 6.

Convert 25.30 into paise.
What is ¥300 - 1757

Add ¥99.75 and %0.25.
Multiply 11 by 8.

Convert Z2.75 into paise.

Convert 250 paise into rupees.

Write ¥10.75 in words.
Add ¥45.50 + ¥39.25.
Subtract ¥18.40 from ¥50.
Multiply ¥9.50 by 5.
Convert Z4.60 into paise.
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Find the difference between
¥88.80 and %50.

Add ¥5.25 and ¥7.75.
Multiply ¥14 by 4.

Convert ¥17.20 into paise.
Convert 1250 paise into rupees.
Write Z35.40 in words.
Calculate ¥105 + ¥95.
Subtract ¥70 from ¥200.
Multiply Z3.75 by 7.
Convert ¥1.45 into paise.
What is 90 - ¥45.257?

Add %150 and %200.
Multiply 20.25 by 4.

Convert 18.90 into paise.
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Convert 50 paise into rupees.
Write ¥250.75 in words.

Add ¥66.50 + ¥33.25.
Subtract ¥22.80 from Z80.
Multiply £7.50 by 6.

Convert 20.05 into paise.
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Practice Answers
%9.50 + £4.75 = ¥14.25

%10 - ¥3.80 = ¥6.20

¥6.25 x 3 =¥18.75

¥15.25 x 100 = 1525 paise

900 + 100 = ¥9.00

One hundred rupees and fifty paise
60 + ¥25.75 = TBS5.75

T40 - ¥T14.60 = ¥25.40

%8 x 6 = ¥48.00

Z25.30 x 100 = 2530 paise

300 - 175 =F125

¥99.75 + ¥0.25 = ¥100.00

¥11 x 8 = ¥88.00

Z2.75 x 100 = 275 paise

250 + 100 = ¥2.50

Ten rupees and seventy-five paise
T45.50 + ¥39.25 = ¥84.75

¥50 - ¥18.40 = ¥31.60

%9.50 x 5 = ¥47.50

Z4.60 x 100 = 460 paise

¥88.80 - T50 = ¥38.80
¥5.25 + ¥7.75=%13.00
T14 x 4 = ¥56.00

¥17.20 x 100 = 1720 paise
1250 = 100 = ¥12.50
Thirty-five rupees and forty paise
Z105 + ¥95 = ¥200

%200 - ¥70 = T130

¥3.75x 7 = ¥26.25

¥1.45 x 100 = 145 paise
90 - ¥45.25 = ¥44.75
¥150 + ¥200 = 350
%20.25 x 4 = ¥81.00
¥18.90 x 100 = 1890 paise
50 + 100 = %0.50

Two hundred fifty rupees and
seventy-five paise

%66.50 + ¥33.25 = ¥99.75
¥80 - ¥22.80 = ¥57.20
¥7.50 x 6 = ¥45.00

%0.05 x 100 = 5 paise
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